
天气预报时钟制作套件 HU-061

Weather forecast clock production kit
About customer service：
Detailed installation tutorial can be obtained by scanning QR code on mobile
Phone.

Ⅰ.元件清单 BOM
序
号

名称 Name 标号
/Lable

数量
/Number

备注/Note

1
直插电解电容

10uF
DIP E-capacior 10uF C1,C2 2

引脚：长正短负
Pin: long positive

short negative

2
0.96 寸 OLED 显示

屏模块
0.96 inch OLED
display module

JP1 1

按丝印方向
Place the device in
the direction of

the graphh

3 卧式按键 Horizontal button KEY1 1

4 WIFI 模块 WIFI module P1 1

5 USB 接口 USB interface P2 1

6
AMS1117-3.3V 稳

压芯片

AMS1117-3.3V
voltage regulator

chip
U1 1

7 弯脚单排 4P 母座
Bent foot single row

4P socket
JP1 1

8 双排 4P 母座 Double row 4P socket P1 1

9 USB 电源线 USB power cable 1

10 外壳 Shell 1

11 螺丝包 Screw bag 1

12 电路板 PCB 1

13 说明书 Manual 1

Ⅱ.电路原理&元件分布图 Schematic&Component map



1. 焊接 AMS1117-3.3 稳压芯片。

Weld the AMS1117-3.3 voltage regulator chip.

2. 焊接弯角单排 4P2.54mm 母座

Welded single row 4P2.54mm female base.

3. 焊接贴片 USB 接口母座。
Solder patch USB port motherboard

4.焊接卧式侧按键。
elded horizontal side buttons.

5.焊接直插电解电容（引脚长正短负）。

Solder in-line electrolytic capacitors (pin
length is positive and short is negative).

6.焊接双排 4P2.54mm 母座。

Weld double row 4P2.54mm female base.

7.焊接 OLED 屏 4P 排针。

Solder OLED screen 4P row pin.

8.如图插上 OLED 屏幕。

Plug in the OLED screen.

9.如图插上 8266WiFi 模块。

Plug in the 8266WiFi module.

10.用铜柱和 M2 4mm 螺母固定 PCB 四个角。

Fix the four corners of the PCB with
copper posts and M2 4mm nuts.

11.用 M2 螺丝将 PCB 固定到亚克力底面外壳上

（注意方向，正面更宽，后面更窄）。

Attach the PCB to the acrylic bottom shell
with M2 screws ( Pay attention to the
direction, the front is wider and the back
is narrower )

12.用M2 5mm螺丝和铜柱固定正面亚克力外壳，
组装好亚克力，用 M2 22mm 螺丝进行固定。
Fix the front acrylic shell with M2 5mm
screws and copper columns, assemble the
acrylic and secure it with M2 22mm screws.

详细焊接&外壳组装步骤请扫描二维码查看图文教程。For detailed welding & shell assembly steps, please scan the QR code to view the graphic tutorials.
















